
Divide by Powers of Ten (B)Find each quotient.
9.065 ÷ 10⁻² = 9.596 ÷ 10⁻³ =
2.3 ÷ 10⁻¹ = 8.3685 ÷ 10¹ =
2.4 ÷ 10¹ = 7.8 ÷ 10⁻² =
3.769 ÷ 10³ = 6.21 ÷ 10³ =
4.788 ÷ 10¹ = 7.711 ÷ 10³ =
8.231 ÷ 10⁻² = 7.217 ÷ 10³ =
0.2573 ÷ 10¹ = 5.23 ÷ 10¹ =
8.74 ÷ 10³ = 7.312 ÷ 10³ =
8.7 ÷ 10⁰ = 3.5368 ÷ 10⁻² =
8.9376 ÷ 10⁰ = 9.138 ÷ 10² =
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Divide by Powers of Ten (B) AnswersFind each quotient.
9.065 ÷ 10⁻² = 906.5 9.596 ÷ 10⁻³ = 9,596
2.3 ÷ 10⁻¹ = 23 8.3685 ÷ 10¹ = 0.83685
2.4 ÷ 10¹ = 0.24 7.8 ÷ 10⁻² = 780
3.769 ÷ 10³ = 0.003769 6.21 ÷ 10³ = 0.00621
4.788 ÷ 10¹ = 0.4788 7.711 ÷ 10³ = 0.007711
8.231 ÷ 10⁻² = 823.1 7.217 ÷ 10³ = 0.007217
0.2573 ÷ 10¹ = 0.02573 5.23 ÷ 10¹ = 0.523
8.74 ÷ 10³ = 0.00874 7.312 ÷ 10³ = 0.007312
8.7 ÷ 10⁰ = 8.7 3.5368 ÷ 10⁻² = 353.68
8.9376 ÷ 10⁰ = 8.9376 9.138 ÷ 10² = 0.09138
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